UBLAZE

OUTDOOR PRODUCTS

Blaze Portable Grill Pedestal Side Shelves
Mounting Instructions

/!\ California Proposition 65 Warning

WARNING: This product can expose you to
chemicals including Chromium
(hexavalent compounds), which are known
to the State of California to cause cancer
and birth defects or other reproductive
harm. For more information go to:
www.P65Warnings.ca.gov




Parts Breakdown:

Part Name: QTy:
Side shelf 2pcs
M6 Allen Screw 4dpcs
M6 Flat Washer 4pcs
M6 Lock Washer 4dpcs
No.5 Allen wrench 1pcs

Steps to mount side shelves:

1) Place the M6 Allen screw, M6 flat washer and M6 Lock washer into the left

and right sides of the table top (2 per side). Please do not tighten, leaving
space to install shelves.




2) Place the 2 openings in the side shelf over the Allen screws, pushing the
side shelf down into place. Ensure the lock and flat washers are located
between the shelf and screw head. Tighten the screws with the No.5 Allen

wrench.




	Blank Page



